
 - 1 -- 

REBOTEC
®  Rehabilitationsmittel GmbH 

PO Box Q541
Queen Victoria Building
NSW 1230

rebotec.com.au
info@rebotec.com.au

 

Article No.: 444.00.97 
Seat width / depth adaptor (A) 

including safety belt (B) 

 

Article No.: 444.03.39 
Head support unit (C) 

Technical specifications 

Adjustment area (armrest / backrest) 
The armrest and the backrest may be adjusted by 
loosening the screws. To do this use the tube wrench 

and the hex wrench (accessory). 

Seat depth:  min. 250 mm, max. 295 mm 
Seat width:  min. 225 mm, max. 325 mm 

 

 

 

 

Safety belt 

Intended proper use  

The safety belt is used for securing the child against 
falling over when bending forward. 

Assembly 
 Swivel the chair’s armrests back.

 Pull the backrest up completely.

 Place the belt loops around the tubes.

 Then push the backrest back until in hits the striker.

 Attention! Do not pinch the loops!

 Swivel the armrests forward until they click in position.

To adjust the belt, pull the 
loose end a ways out of the 
belt fastener and then 
retighten. 

To open the belt, press the 
red button all the way down 
and pull the plastic buckle 
out. 

User Instructions 

BA No.: 02.10.097/2016-12 

Accessories for Augsburg 
 (Shower & Commode Wheel Chairs For Children) 

A 

C 

B
A

Serial Number 

06/2005 (Th.B.)

Serial Number 

06/2005 (Th.B.)

1. 
2. 

3. 

GB 



REBOTEC / BA No.: 02.10.097/01-12     GB 

- 2 - 

E 

C2 

C1 

BA 

D 

Head support unit 

Intended proper use  
With the head support unit, support of the head 
can be adjusted to match the size of the child, thus 
offering an optimum relief and posture for the head 
and neck area. 

Article weight compl.: 1.7 kg 

Components 
Pcs. Description Art. No. 

1 
Head support unit compl. 
Depth: 3-stage adjustable 
Height: 7-stage adjustable 

444.03.39 

2 Screw M6x30 A2 850.56.30 

2 Washer DIN 9021-6.4 A2 856.50.06 

Assembly 

 Place it in the mounting fixture behind the chair.

 With the hex key, loosen both M6 hex screws
that attach the back cushion, or seat width
adaptor, to the back cross-piece.

 Next, screw on the complete head support unit
(A) to the cross-piece (C) of the backrest using
both M6 screws (B). Alternatively it may be
mounted to the back cushion (D).

Adjustment 
The head support is adjustable to the front (E) and 
height (F), each by a clip (G). Pull the clip out, 
select the next hole, and then re-insert the clip 
. 

Seat width and depth adaptor 

Intended proper use  
Using the seat width and depth adaptor, the seat 
depth and seat width can be optimally adjusted to 
suit the size of the child. It assures maximum 
sitting comfort. 

Article weight compl.: 2.2 kg 

Components 

Assembly 

 Place it in the mounting fixture behind the chair.

 Using the hex key, loosen both M6 hex screws
with which the back cushion (E) is attached to
the cross-piece (F) of the backrest.

 Screw the pre-assembled holder-back cushion
(A+B) and the cross-piece (D) together with the
pre-assembled armrests (C1+C2) to the backrest
(E). Use the flat washers and the M6x20 cylinder
screws. Tighten the screws with the Allen key.

 Next mount this entire assembly to the holder (A)
to the cross-piece (F) of the backrest. To do this,
use the flat washers, the M6x30 cylinder screws
and the M6 hex key. Tighten the screws.

Pcs. Description Art. No . 

A Holder for back cushion 444.52.40 

B Bow for back cushion 444.52.30 

C1 Armrest - left 444.52.60 

C2 Armrest - right 444.52.65 

D Rail for the armrest 444.52.50 

E Back cushion 440.10.02 

6 Flat round screw M6x20 A2 853.06.20 

8 Washer DIN 9021-6.4 856.50.06 

2 Cylinder screw M6x20 A2 850.56.30 

2 Cylinder screw M6x30 A2 850.56.30 

6 Hex nut M6 A4 854.52.06 

1 Pipe key 10mm 859.00.10 

1 Hex Allen key 5mm 858.00.05 

B 

A 

C 

D 

G 

F 

E 

G 

F 




